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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
abooklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: 1) @ @ (@ where (3)is the correctresponse.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
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Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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FORENSIC SCIENCE
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. A person who is harmed in a crime is known as :

(1) Suspect (2) Accused

(3) Defendent (4) None of the above
2. P - waves are associated with which of the following ?

(1) Brain finger printing (2) Narcoanalysis

(3) Plethysmograph (4) Polygraph

3.  Who among the following used engravings of his fingerprints on the books published by him ?

(1) Malpighi (2) Faulds (3) Orfila (4) Bewick
4.  Assertion (A) : Dying declaration is always a verbal statement made by a person who is
going to die.
Reason (R) : Presence of a magistrate is mandatory to record declaration.
Codes :
(1) Both (A) and (R) are correct
(2) (A) is correct and (R) is incorrect

)
(3) Both (A) and (R) are incorrect
(4) (A) is incorrect and (R) is correct

5.  First University based Forensic Science Education Programme was started in India at which
of the following university ?

(1) Dr. B.R. Ambedkar University, Agra
(2) Dr. HS. Gour University, Sagar

(3) Madras University, Chennai

(4) Punjabi University, Patiala

6. Which of the following rulings was the first to set the standards for admissibility of scientific
evidence in the court of Law ?

(1) Daubert ruling (2) Frye ruling
Locards ruling (4) Henry ruling
ST : —




IV' CAREERINDIA

=1 fatyr fagm
LEECER I

fder: =8 TR 79 H v (75) 9g-fose ™ ue §1 UAE U % ar (2) ofF ¥ 1 |t uee rfard

1.

vans | AU

g

et sty H erfaured eaTel =afad o1 frefafeaa & @ fraet 9 <t 5t @
(1) dfery (2) SFFF 3) wfqardt (4) STFE QA FE T

d-air frefafed o 9 fead gag 22
1) A e ()  dEr-fawermm (3) wIUSHITE (4) FgE! (dTAITE)

frefafed § @ fha 9" g/ eI qeashi W 19t siTfeftag 1 Suaimt foan € 2
(1) wfeafs (2) Thiced (3)  sTfther (4) dfas

AMIRAT (A) :  Jg Fifcish HUF THI AH 91t At g1 fean e Hifass s 2 §
e (R) : TE HYT HI TS HH F AU AfTEE 1 Sufeyfa ifam § |

%<

1) (A) R (R) < T R

2) (A) ¥ § AR (R) Te@ B

(3) (A) 3R (R) I Terd

(4) (A) 7T § 3R (R) T R

faafaamera snenfia yeen =nfye fogm fen wriwn ywa § frefafaa fovafaaedl § 4 #f
& o T o ?

(1) =1 AR e foavafaared, s

(2) <. TE.TE. Tire favafaarea, |

(3) e favafasme, =

(4) Ot fovafaemery, fearen

TAT B AR T8 Tl TRl & fet A 93 3 91e Ted ggen faf ol f 9§ 9 &1 @
(X

(1) e fafo= 2) W fafoR

(3) ey fafia (4) & fafoig

w

Paper-III



10.

11.

12.

13.

IV' CAREERINDIA

The useful pH range for silica based stationary phase is :

1) 1to7 2) 2to8 (3) 2to10 4) 5to7

In which technique, the molecules or atom of samples are detected according to mass to
charge ratio ?

(1) Capillary Electrophoresis (2) Potentiometry

(3) Mass Spectrometry (4) Chromatography

Isoelectric focusing is ideal for the separation of :
(1) Neutral compounds (2) Anionic compounds

(3) Cationic compounds (4) Amphoteric compounds

Laminar flow profile in capillary electrophoresis is due to :
(1) Electro osmotic flow (2) Hydrodynamic flow

(3)  Free flow (4) Capillary action

The inability of a simple lens to bring radiation of different wavelengths to a focus in one
plane is :

(1) Spherical aberration (2) Chromatic aberration

(3) Mechanical aberration (4) Chemical aberration

Radio frequency falls-in which of the following wavelength region of EMR ?

(1) 100 to 0.1 m (2) 100 to 1 mm (3) 200 to 800 nm (4) 2 to 0.1 nm

Which of the following is the most sensitive technique to isolate petrolium products from
different substrates ?

(1) Solvent extraction (2) Steam distillation

SPE (4) SPME

®)
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14. For photomicrography, the position of object lies between which of the following ?
(1) Greater than 2F of the lens (2) At 2F of the lens
(3) Between F and 2F of the lens (4) Less than F of the lens
15.  Which of the following is the nature of ODS, Octyl, Phenyl sorbents ?
(1) Polar (2) Non polar (3) Ionic (4) Surfactant
16. In Carbohydrate metabolism, Phosphoglucomutase catalyzes the reversible conversion of
glucose - 1- phosphate to which of the following ?
(1) glucose - 3 - phosphate (2) glucose - 6 - phosphate
(3) glucose - 2 - phosphate (4) glucose - 8 - phosphate
17. DNA s a(n) :
(1) Ester (2) Polymer (3) Enzyme (4) Protein
18. Which of the following is used in PCR reaction mixture ?
(1) Ca** (2) Mg*™ (3) Li** (4) Na**
19. SYBR Green Dye is used for :
(1) HPLC (2) Immunofluorescence
(3) PCR (4) ELISA
20. Match the following :
List - I List - II
(Antigen) (Specific Sugar)
(@ A (i) D - galactose and N - acetylgalactose amine
(b) B (i) L -fucose
(c) AB (iii) N - acetylgalactose amine
d H (iv) D - galactose
Codes :
(@ (b) (o (d
W @ @) 0 @
@ O @ @) G
@) ) @ @ @)
@) @) @) @ 0
aad || [T ;
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21. “Meconium” is the Greek name of :

(1) Cannabis (2) Poppy (3) Dhatura
22. Cyanide inhibits the activity of which of the following enzyme ?

(1) Carboxylic esterase (2) Cytochrome oxidase

(3) Pancratic lipase (4) Salivary amylase
23. Match the following :

(a) Dhatura (i) Hyoscine

(b) Bhilawa (i) Codeine

(c) Opium (iii) Brucine

(d) Kuchila (iv) Semicarpol

Codes :

@ (b) (o (@

O @ O G ()

@ O @) @ ()

@) v O G

@ ) O G G
24. Which of the following is an alcohol deterrent drug ?

(1)  Morphine (2) Codeine (3) Disulfiram
25. The combination of cocaine and heroin is known as :

(1) Smack (2) Pot (3) Speed Ball
26. Density (kg/md) of standard petrol at 15°C is

(1) 500 - 550 (2) 710 -770 (3) 220 - 240
27. Octane number indicates

(1) Ignition quality (2) Storage quality

Anti - knocking quality (4) Viscosity

\!II“IIH“IIIHIHI“II“II| AR ;
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(4) Cocaine

(4) Coffine
(4) Knock out ball

(4) 150 - 190
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23. 7= =1 gafea wifeg
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28. Which of the following is Methyl morphine ?
(1) Methadone (2) Thibaine (3) Codeine (4) Heroin

29. Which of the following plants contain the toxalbumin - “Ricin” ?

(1) Calotropis (2) Croton (3) Marking nut (4) Castor

30. Which of the following plant is not a cardiac poison ?
(1) Digitalis (2) Aconite (3) Nicotine (4) Calotropis

31. Assertion (A) : Pyrotechnics are mixtures of oxidising and reducing agents, capable of self
sustained combustion.

Reason (R) : All pyrotechnics are solid.
Codes :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are wrong
(3) Only (A) is correct and (R) is wrong
(4) Only (R) is correct and (A) is wrong
32. Tetrylisa:
(1) Nitramine booster explosive (2) Nitrate ester booster explosive

(3) Nitroaromatic booster explosive (4) Inorganic salt

33. Full form of TNT is :
(1) 1, 3,5 - Trinitrotoluene (2) 1, 4,5 - Trinitrotoluene
(3) 2, 2, 6 - Trinitrotoluene (4) 2, 4, 6 - Trinitrotoluene

34. For a projectile fired in Vacuum, maximum range is obtained at what angle ?

1) 37° ) 45° 3) 90° (4) 40°

35. The 0.410 musket fires :
(1) A spherical ball (2) A 0.410 bullet (3) A rotax (4) Arifled slug

voans | NN
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36. Which of the following is not a factor in measurement of recoil ?
(1)  Weight of gun and bullet
(2) Muzzle blast
(38) Gases formed inside the cartridge case
(4)  All burnt position
37. Assertion (A) : Blank catridge can cause death if used at close range.
Reason (R) : Any ammunition at close range can cause fatality.
Codes :
(1) Both (A) and (R) are correct
(2)  (A) is correct and (R) is incorrect
(3) Both (A) and (R) are incorrect
(4) (A) is incorrect and (R) is correct
38. Temporary cavitations are caused by :
(1) Resistance offered by the body
(2) Energy generated by burning of propellant
(3)  Energy imparted by the bullet to the body
(4) Energy generated by burning of primer
39. Which of these tests is used to check for the presence of antibodies in blood stained
material ?
(1) Lattes Crust test (2) Ring Precipitin test
(3) Takayama test (4) Teichmann test
40. The phase of hair growth include all of the following except :
(1) Catagen (2) Telogen (3) Anagen (4) Follicagen
41. The most prevalent plant fibre is :
(1) Wool (2) Hemp (3) Mohair (4) Cotton
el T 2
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42. The anterior portion of the sperm head, capped with the acrosome, is rich in :
(1) Proteins (2) Enzymes (3) Sodium (4) Potassium
43. Which of the following test does not detect the presence of semen ?
(1) Barberios (2) Florence (3) P -30 test (4) Takayama
44. ABO blood grouping is based on the presence of :
(1) Gammaglobulins (2) Red cell antigen
(3) Red cell enzyme (4)  White cell antigen
45. Match the following :
List - I List - II
(a) Ring Precipitin test (i)  The test is carried out in a gel on glass
plate
(b)  Ouchterlony Double Diffusion test (i) Not simple diffusion but based on
capillary action
(c) Cross over Electrophoresis (iii) Examination of albumin and globulins
(d) Serum Protein analysis (iv) . It employs simple diffusion between two
liquids
Codes :
(@ () (9 (d)
1 (@Gv) @ @) (i)
(2) (@) @ @ @)
®) @) (@v) @) @O
@ Gv) @) @) @
46. With a tool having thick edge having tool marks, the pattern of striations changes with :
(1) Angle of tilt (2) Angle of progression
(3) Pressure applied (4) Force of application of the tool
47. The hard mass obtained by solidification of the inert material like sand, coarse stone, water
and cement is known as :
(1) Stone (2) Concrete (3) Mortar (4) Sand
48. The density of a mineral, rock or any other particle is usually expressed as :
(1) Grams per square centimeters (2) Grams per cubic centimeters
(3) Grams per centimeter square (4) Grams per centimeter cubic
el T 1
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49. Minimum percentage of lead in lead alkali silicate glasses is :
(1) 80% (2) 70% (3) 60% (4) 55%
50. Mongoloids are :
(1) Brachycephalic (2) Dolichocephalic
(3) Mesocephalic (4) None of the above
51. MERMER is related with :
(1) Polygraph (2) DNA Fingerprinting
(3) Iris Scan (4) Brain Fingerprinting
52.  Which of the following teeth are super added teeth ?
(1) Incisors (2) Canines
(3) Temporary molars (4) Permanent molars
53. Which of the following formula is not useful for determination of stature ?
(1) Dupertius and Haden (2) Trotter and Glesser
(3) Karl Pearson (4) Haderup
54. Assertion (A) : Polyphyodont refers to teeth that are constantly replaced throughout life.
Reason (R) : This phenomenon is seen in human beings.
Codes :
(1) Both (A) and (R) are correct
(2) (A) is correct and (R) is incorrect
(3) Both (A) and (R) are incorrect
(4) (A) is incorrect and (R) is correct
55. Writing obscured by the application of correction fluid is also known as :
(1) Erasure (2) Correction (3) Obliteration (4) Interlineation
56. The traditional printing method of relief printing is also known as :
(1) Lithography (2) Intaglio (3) Letter press (4) Offset
57. The handwriting written with connected strokes is known as :
(1) Lettered writing (2) Cursive writing
(3) Disconnected writing (4) Graphic writing
aad || [T y
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49. HEn &R faferee wig § €9 = feqq yfaea e E @ e e ?
1) 80% 2) 70% (3) 60% 4) 55%

50. HiMeEe feE E 4 F=e?
(1) STRERidS (2) Sfasahfas

() faEthfas (4) S0 H 9w T8l
51. TH S 3R WA 3 IR frefafaa o 9 fHag gefug 82

(1) s (2) ZruAw, At

(3) ERE whA (4) o9 iyt
52. frefafed § @ ®=F 9 giq swafdd g §2?

(1) R (2) FTEA

(3) et Hiew (4) Tl HieR
53. frefafaad § 9 &ie g9 ® & faio & foag sem 7= 82

(1) gufésm IR &= (2) TR AR T

() @ frtdm (4) Tgu

54, SAFURYT (A): TIHEREIEE o1 qcqd T <idl J & S Sier 78+ F= sigerd & § |
T (R) : IE YohH e TS § @1 ST § |

%<

(1) (A) 3R (R) < w&t €|

2) (A) W& § R (R) T T |

(3) (A) 3R (R) I Terd

(4) (A)TTe@ § R (R) &l B

55. IR TFES AR ohEt foramae & faaio &1 Ig off #ad €
(1) TR (2) wRM (3) sifecrerer (4)  zefafrRe

56. fieiw fiffe s urufw fGfén fafy &1 o7 of wed ¥ -
(1)~ faeiwme (2) saf@st (3) <X IH (4) offREe

57, TER 2 gU T ¥ fafeq swfaft «1 frafafaa & @ feast g & st €2
(1) SA&gH d@A (2) wida e
(3) TG T (4) TR orEA
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58. Titanium dioxide as a constituent of fingerprint powder results in which of the following
colour to the powder ?
(1) Red (2) Black (3)  White (4) Grey
59. Match the following :
List - I List - II
(a) Hard evidence (i)  Ninhydrin analogue
(b) 5 - methyl thioninhydren Hemiketel =~ (ii) Adhesive side of adhesive tape
(¢) Quantum dots (iii) Nanoparticles method
(d) Gentian violet method (iv) Cyanoacrylate method
Codes :
@@ () (o (@
1) @) @ @) 0
@ Gv) O @) @
@) @ @) @ @)
@ O v @ G
60. Assertion (A) : Cadmium is not preferably used to develop latent fingerprints in Vacuum
Metal Deposition method (VMD)
Reason (R) : Cadmium is a toxic substance
Codes :
(1) Both (A) and (R) are incorrect
(2) (R) is incorrect but (A) is correct
(3) Both (A) and (R) are correct
(4) (R) is correct but (A) is incorrect
61. Level 3 details of friction ridge skin include which of the following ?
(1) Poroscopy and ridgeology (2) Ridgeology and pattern type
(3) Pattern type and ridge count (4) Ridge count and ridge tracing
62. A book titled, ‘Fingerprint Detection with Lasers” has been authored by which of the
following ?
(1) Lee and Gaensslen (2) J. Almog
(3)  E.R. Menzel (4) E.R. Henry
63. The book “Crime Investigation” is written by :
(1) Paul Kirk (2) Osterburg (3) Hans Gross (4) Albert S. Osborn
gl | AT 5
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siferfag TSeX & Sesh & ¥4 H feerfom seermse & g 9t frafafed § @ w9 @ W
IR ?

1) <« (2) Il (3) wHT (4) "W
frefafed =1 gafad wifs :

el - 1 et - 11
(@) @S THeH (@) iRl T
(b) 5 - HIBA ARTRRIST SfHhed (i) <USR 29 w1 Faafea
(c) FaT=H Tle™ (iii) T IRfeRe™ TSfa
(d) Sif=rEE g 9gid (iv) 9IRS Tgid

(@ (b) (o (d)
1 ) @ @) )

(2 (v) (@) () (i)

@) (@) @) @ ()

4 @ (@v) @) (i)

AfFT (A) :  IRA Hea feuifomm vsfd ¥ y=oe oia Bl #I fawfad &0 § Fefram &
YA T AT I 7 & et © |

T (R) : wHifer el enfawe Terd ®1

W .

1) (A) R (R) S Td €|
(2) (R)7ToTd § W (A) TR R
(3) (A) 3R (R) < Tt 1
(4) (R) W& T W (A) T4 B

1 YE g = w1 R - 3 foer frefafaa o 9 fag gafase s g2

(1)  Tyfesm e RfSetrerst (2) TESATAST qon Y& TR

(3) UEY YR a1 RS *e= (@) = wr= iRk = fan

‘TEmRfe feeam fag oo’ e gwas fefafaa & @ feas grr foet 1§ 2

(1) ot &R TIEe 2) . st

(3) 3.9 "W (4) 3R T

"1 SAfEiYH " AHE TEIE kG |

(1) dia forek (2) eAr=TErt (3) TEUW (4) oTcI TH. STEH
s [ [HMIATIN 19 Paper-



64. Bevelling of inner table of cranium may be caused due to :

(1) Firearm entry wound (2) Firearm exit wound

(3) Communicated fracture (4) Pond’s fracture
65. Stab wound caused by a double edge knife is :

(1) Circular (2) Elliptical (3) Stellate (4)
66. Tram line bruises are caused due to injuries inflected by :

(1) Acid burns (2)  Electrical burns

(3) Injuries inflected by iron rod (4) Radiation injury
67. Getler’s test helps to differentiate between :

(1) Antemortem and Postmortem injuries

(2) Antemortem and Postmortem burns

(3) Fresh water and Salt water drowning

(4) Live birth and still birth
68. Which of the following insecticides is referred to as plant pencillin ?

(1)  Aluminum (2) Carbamate (3) Diazinon 4)
69. Ecgonine methyl ester is a metabolite of :

(1) Heroin (2)  Methyl ester (3) Cocaine 4)
70. Vanillin is key component of :

(1) Duquinois - Levine Reagent (2) Marquis Reagent

Scotts Reagent (4) Dillie - koppaneje Reagent
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64. THUA HT LY T 1 FaUM FhE HRT a1 § 2
(1) I T Joq o6 (2) W e e wE
(3) 9t sifeer wfs @) e 1 aAfey o

65. < ¥ A % HR g1 = fefafad § 9 f6g IR &1 e 2 2
(1) TR (2) SR (3) UR&M (4) Fremia

66. M e Ao ffafga o @ fhaes g ot = & SR e § 2
(1) o7 9 ST () fosrell 9@ s
(3) T I B EN @l AR (@) fafeor =

67. Teer Wiew frefafad § @ fHas ofd e & § e el § 2
(1) TIgE IR Jg Iv=ma 4
2) FIE AR g TwEE e
(3) TSN UM SR @RI aH § ga
(4) F=a 1 Siifod S SR Ak §
68. Trefafea # § ffq el il Wy UFHel= % 9 § S <1 § 7
(1) TegHifTm (2) wmEiEe (3) S (4) TYH

69. T AuEd T fefafed d 9 foeae 9am=as gar g ?
1) fedeA (2) TUEHA TR (3) WHIHA (4)

70. Afafer fr=fafaa & 9 frgs ger w2 272
(1) =gforag - faemd sfywds (2) wifad eifvent®
(3) ThicH AfvwH® (4) feooll - ®IwEM sAfyrds
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71. Which solvent system is most useful for TLC determination of adulteration of petrol with
kerosene ?
(1) Chloroform : Methanol (80 : 20)
(2) Chloroform : Acetone (90 : 10)
(3)  Chloroform : Diethyl Ether (20 : 80)
(4) Hexane : Acetone : Acetic acid (50 : 50 : 2)
72. Assertion (A) : It is important to have internal consistency in all the standard writings
provided for comparison.
Reason (R) : If there is internal inconsistancies among all the sets of standard provided,
it will indicate that handwriting is not written by one and the same person.
Codes :
(1) Both (A) and (R) are correct
(2) (A) is correct and (R) is incorrect
(3) Both (A) and (R) are incorrect
(4) (A) is incorrect and (R) is correct
73. Assertion (A) : In Gas Chromatography the column temperature is always lower than that
of boiling point of the analyte
Reason (R) : The analyte should always remain in vapour phase
Codes :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are wrong
(3)  (A) is correct but (R) is wrong
(4) (A) is wrong but (R) is correct
74. Cocaine hydrochloride can not be smoked because of its :
(1) High melting point (2) Crystalline structure
(3) Large grain size (4) Volatility
75. What is the length of Amelogenin gene in X - Chromosome ?
(1) 120 bp (2) 112 bp (3) 108 bp (4) 106 bp
-o0o-
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| # et & qa &1 faetmae &1 TLC fafy & var evm & foe frafafaa # @ s@-w faams
o @aferen START B § 2

(1) FaR®H ; [ (80 : 20)

(2) FANHRE : TEHEA (90 : 10)

(3) ARIBM : STEIATEA e (20 : 80)

(4) TR : THIRF : Tfafes TfEE (50 : 50 : 2)

AUFRAT (A) : TS A & fau yed It A of@d | 1eiaies dadn s 3@
e 81

e (R) e IqeTsy Al U T=ad | g 1T STHAd € a1 399 I8 frefud g
for geafafy w= € iR 35t =afe g/ ==l foret T )

E TR

1) (A) R (R) < T E
2) (A) W& § R (R) T T |
3
(4

(A) 3R (R) S TTera B

)
) (A) T B R (R) T&T 2|

AR (A) : 19 IufciE | HictH Ik foveiush & Fd9Hieh qIshH & 3TUeTRd Tod &4 2l
gl

e (R) : forveroe Tea T ereren | g =fEy |

%<

(1) (A) 3R (R) < ¥t T |

2) (A) 3R (R) < Tera F

(3) (A) W& & forg (R) TeTd T |

(4) (A)7ea € fRg (R) B T

FIh TESIFARSS 1 START YWIH & &I | T fohal S Fehall B, Fiifh g :
(1) = Tedi® (2) forEereitsd @i=n
(3) ¥ (4) aTSHETETal

X - URLS § THIASIA S 1 TwiTg 91 § 2
(1) 120 bp (2) 112 bp (3) 108 bp (4) 106 bp
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